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(2) Attempt all questions. V
(3) Figures to the right indicate full marks.

(4) Assume suitable data wherever necessary.

(5) Use of scientific calculator (CASIO - fx - 82/83 or equlvalent)

is permitted.
. (6) Answer to the two sections must be written in separate answer
book.
1 (a) Answer the following questions : 10

(i) State the function of stack pointer (SP) register.
(i) Explain the function of XTHL instruction with one ?

example.
(iii) Identify the addressing mode of the instruction :

SHLD 9000 N.
4« (v) If the clock period of 8085 is 0.2 ps, calculate the
tﬁ"'?\ time required to execute the instruction RAR.
_ x<N'% () Which internet has highest prioprity in 8085 ?

“ Which intrru mﬂg{;taisnnumaskahleiuallﬁﬁ? :
= (vi) Give a si instruction to divide the even
L‘/ number in A resister by 2. — &R -
Q' (vii) Why intrrupts driven data transfer is more efficient |
than programmed data transfer ? < J
P (viii) How many intrrupts can be iced using one
8269 IC? '8 ¢ Tes— IBN
(ix) What is the content of carry flag if ANA B is
executed ? <2M —wiedel - AL o Resel
(x) Why no intrrupts acknowledge cycle is required

for RST 7.5 in ?
DK-6787-88] S Y : 1

14 J I]uj




AR

P :
T _.1,.-1 -

o =
-

,_.
R

Y

T L R R A

i Trg—

DE-8787-88] s,., ¥

Whntmvanmsﬁwmmtmumsman&’i?
® G:wthﬁrhcmmanﬂlw usefulness.

ety

on F—

niFin o s ToMGER anh wrekh

e
Y e o
TS s : .
o L gatRREsl Bk R TR A
Sy 4 e el Lo CLAL R
_'JiJ' Y h"u"l-..‘l-. L) it .P-‘ e b=
i i o=t d

ar {1 AR Nwel ymans M0 Jasii ull 2i-indW
oy O e S0 T o TGN s 9 balears

L 16" pi ey ;l"l,{dﬂ!ﬂd B Hli... Yeliag ::l' HHJ
* wmtint 2T ° wol




DK-6788
Instructions :
1)
A enida g Famdludl [Eadi Gnzadl ua waw qwdl,

Fillup strictly the details of g signs on your answer book.
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(2) Attempt all questions.

(3) Figures to the right indicates full marks.

(4) Assume suitable data wherever neeemry

(5) Use of scientific calculator (CASIO - fx - 82/83 or equlvalent)
is permitted.

(6) Answers to the two sections must be wntt;m in separate answer
book.

4 (@ ‘Write in W 16

® Whmuthsqautentoftheprogmmwunteraﬂer
> - fetching 8 bit / 16 bit-data-from a memory location
3065 H ? The instruction to fetch the data resides
at 5123 H.
| e
—?ch) If the 8085 adds 58 H and A8 H, specify the S

content of accumulator and th oft.hes—' O~
—»Z and CY flags. 3:’

(iii) Discuss following signals : |gm 'l,t;raﬁ
E ALE, HOLD, SID, READY. (|75 101
(iv) Why does bus umtenhon ¢ 7 How can it be
avoided 7 sy, -
(v) Where does the stack poi reside 7 What is
stack ? et

(vi) Can 'Bit Set Reset operation’ change PCO, if both .
port A and port B are in mode 0 and port C lower
is being used as output ?

(vii) What are tri-state devices and why they are
essential in a bus oriented system ?

(viii) What do you mean by wait state. When and how

o it can be inserted ?

(b) Design a circuit which provides lower order address 4
bits during a whole machine cycle.
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F 5 Attempt any two of the following :

’ (a) Draw the complete interfacing schemes used to

i = interface
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 required control signals. .
b @ FushaCLOGKandGﬁTEnvefwmagxm

below, draw the output waveform of counter 0 of
m&ﬁma.lmmlmntmmunhrmﬁ

WL - asslid;
=zl L Z10
|83 ] (i) Draw mﬁpﬁtﬁgm@m 8253 timer
- 3 with 8085. AR «
| dge (©) Discuss the internal architecture of 8085 with block
- 4 C dngtamDrawatatusreg:stumdmlmn P,
L - 6  Attempt any two of the following :
7 (a) Draw a schematic to interface a 16-key matrix
g . keyboard using J_GotftheBEH Write instructions
R} b P to initialize the port.
o : EOROR What is b a
© dwim? : :
% i - @) What is two key lock and N rdlwgr?
. © What is DMA ? Using a block d explain how
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